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Direction:

Read the passage and answer the following questions.

The pandemic has forced many to reevaluate what they want out of life, and for some, that has meant leaving their
jobs. For businesses looking to retain those workers, it will probably take more than simply raising wages to
prevent a rush to the exits, according to a study released by management consulting firm McKinsey & Co. Offering
a raise can make the difference, but the report finds that the “Great Attrition” can actually become the “Great

Attraction” for companies that can also make employees feel valued in other ways.

The report found that 40% of the more than 5,770 employees surveyed said they were “at least somewhat likely” to
quit in the next three to six months. More than half of employees who already left their jobs said they did so
because they didn’t feel valued by their bosses or organizations or because they didn’t feel “a sense of belonging at
work.” In contrast, employers surveyed said they believed their employees left because of compensation, work-life

balance and poor physical or emotional health.

The findings were based on two surveys of employers and employees across multiple industries in the U.S,,
Australia, Canada, the United Kingdom and Singapore. The employer survey included 250 talent managers from a

variety of companies.

Perhaps more concerning for employers is that 36% of survey respondents who quit their jobs in the last six months

left without having a new job. In the U.S,, that figure jumps to 40%.

That means these workers didn't necessarily leave because they got a better offer somewhere else. Instead, it’s a

sign that employers dont understand how hard the pandemic has been for their employees, the report said.

Higher wages are important to many workers, but companies looking to stem theexodus also need to really listen

to employees about what they want and include them in the process, the report said. (313 words)

(From Los Angeles Times)

Question No.1
What is the main theme of the passage?

Options:
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1. The pandemic and the surge of unemployment due to layoff.

2. Employees quitting without job offer and what companies can do to retain them
3. Developed countries and effective employee management

4. Wage, as the single criterion for employees to take up a job

5. None of these
Answer : Employees quitting without job offer and what companies can do to retain them

Direction:

Read the passage and answer the following questions.

The pandemic has forced many to reevaluate what they want out of life, and for some, that has meant leaving their
jobs. For businesses looking to retain those workers, it will probably take more than simply raising wages to
prevent a rush to the exits, according to a study released by management consulting firm McKinsey & Co. Offering
a raise can make the difference, but the report finds that the “Great Attrition” can actually become the “Great

Attraction” for companies that can also make employees feel valued in other ways.

The report found that 40% of the more than 5,770 employees surveyed said they were “at least somewhat likely” to
quit in the next three to six months. More than half of employees who already left their jobs said they did so
because they didn't feel valued by their bosses or organizations or because they didn't feel “a sense of belonging at
work.” In contrast, employers surveyed said they believed their employees left because of compensation, work-life

balance and poor physical or emotional health.

The findings were based on two surveys of employers and employees across multiple industries in the U.S,,
Australia, Canada, the United Kingdom and Singapore. The employer survey included 250 talent managers from a

variety of companies.

Perhaps more concerning for employers is that 36% of survey respondents who quit their jobs in the last six months

left without having a new job. In the U.S,, that figure jumps to 40%.

That means these workers didn't necessarily leave because they got a better offer somewhere else. Instead, it’s a

sign that employers don’t understand how hard the pandemic has been for their employees, the report said.

Higher wages are important to many workers, but companies looking to stem theexodus also need to really listen

to employees about what they want and include them in the process, the report said. (313 words)

(From Los Angeles Times)
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e Question No. 2
What was considered as a reason by 40% of the more than 5,770 employees surveyed, to quit their job?
Options:

1. they didn't feel valued by their bosses
2. proper compensation

3. less work-life balance

4. poor physical and emotional health

5. All of these
Answer : they didn't feel valued by their bosses

Direction:

Read the passage and answer the following questions.

The pandemic has forced many to reevaluate what they want out of life, and for some, that has meant leaving their
jobs. For businesses looking to retain those workers, it will probably take more than simply raising wages to
prevent a rush to the exits, according to a study released by management consulting firm McKinsey & Co. Offering
a raise can make the difference, but the report finds that the “Great Attrition” can actually become the “Great

Attraction” for companies that can also make employees feel valued in other ways.

The report found that 40% of the more than 5,770 employees surveyed said they were “at least somewhat likely” to
quit in the next three to six months. More than half of employees who already left their jobs said they did so
because they didn’t feel valued by their bosses or organizations or because they didn't feel “a sense of belonging at
work.” In contrast, employers surveyed said they believed their employees left because of compensation, work-life

balance and poor physical or emotional health.

The findings were based on two surveys of employers and employees across multiple industries in the U.S,,
Australia, Canada, the United Kingdom and Singapore. The employer survey included 250 talent managers from a

variety of companies.

Perhaps more concerning for employers is that 36% of survey respondents who quit their jobs in the last six months

left without having a new job. In the U.S,, that figure jumps to 40%.
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That means these workers didn't necessarily leave because they got a better offer somewhere else. Instead, it’s a

sign that employers don’t understand how hard the pandemic has been for their employees, the report said.

Higher wages are important to many workers, but companies looking to stem theexodus also need to really listen

to employees about what they want and include them in the process, the report said. (313 words)

(From Los Angeles Times)

Question No. 3
How many employers were surveyed?
Options:

1.250
2.500
3.1000
4.2000

5.5770
Answer : 250

Direction:

Read the passage and answer the following questions.

The pandemic has forced many to reevaluate what they want out of life, and for some, that has meant leaving their
jobs. For businesses looking to retain those workers, it will probably take more than simply raising wages to
prevent a rush to the exits, according to a study released by management consulting firm McKinsey & Co. Offering
a raise can make the difference, but the report finds that the “Great Attrition” can actually become the “Great

Attraction” for companies that can also make employees feel valued in other ways.

The report found that 40% of the more than 5,770 employees surveyed said they were “at least somewhat likely” to
quit in the next three to six months. More than half of employees who already left their jobs said they did so
because they didn’t feel valued by their bosses or organizations or because they didn’t feel “a sense of belonging at
work.” In contrast, employers surveyed said they believed their employees left because of compensation, work-life

balance and poor physical or emotional health.
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The findings were based on two surveys of employers and employees across multiple industries in the U.S,,
Australia, Canada, the United Kingdom and Singapore. The employer survey included 250 talent managers from a

variety of companies.

Perhaps more concerning for employers is that 36% of survey respondents who quit their jobs in the last six months

left without having a new job. In the U.S,, that figure jumps to 40%.

That means these workers didn't necessarily leave because they got a better offer somewhere else. Instead, it’s a

sign that employers don’t understand how hard the pandemic has been for their employees, the report said.

Higher wages are important to many workers, but companies looking to stem theexodus also need to really listen

to employees about what they want and include them in the process, the report said. (313 words)

(From Los Angeles Times)

Question No. 4

According to the passage, what percentage of people in America surveyed quit their jobs in the last six months

without having a new job?
Options:

1.20%
2.36%
3.40%
4.50%

5.80%
Answer : 40%

Direction:
Read the passage and answer the following questions.

The pandemic has forced many to reevaluate what they want out of life, and for some, that has meant leaving their
jobs. For businesses looking to retain those workers, it will probably take more than simply raising wages to
prevent a rush to the exits, according to a study released by management consulting firm McKinsey & Co. Offering
a raise can make the difference, but the report finds that the “Great Attrition” can actually become the “Great

Attraction” for companies that can also make employees feel valued in other ways.
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The report found that 40% of the more than 5,770 employees surveyed said they were “at least somewhat likely” to
quit in the next three to six months. More than half of employees who already left their jobs said they did so
because they didn’t feel valued by their bosses or organizations or because they didn't feel “a sense of belonging at
work.” In contrast, employers surveyed said they believed their employees left because of compensation, work-life

balance and poor physical or emotional health.

The findings were based on two surveys of employers and employees across multiple industries in the U.S,,
Australia, Canada, the United Kingdom and Singapore. The employer survey included 250 talent managers from a

variety of companies.

Perhaps more concerning for employers is that 36% of survey respondents who quit their jobs in the last six months

left without having a new job. In the U.S,, that figure jumps to 40%.

That means these workers didn't necessarily leave because they got a better offer somewhere else. Instead, it’s a

sign that employers don’t understand how hard the pandemic has been for their employees, the report said.

Higher wages are important to many workers, but companies looking to stem theexodus also need to really listen

to employees about what they want and include them in the process, the report said. (313 words)

(From Los Angeles Times)

Question No. 5

Which of the following statements is not true according to the passage? If all the sentences are correct, mark

option 5 “All are correct’ as the answer.
Options:

1. The study was released by a marketing firm, that wanted to make the difference, by helping companies
retain their employers.

2. The employers surveyed believed that their employees had left because of compensation, work-life
balance and poor physical or emotional health.

3. Two surveys of employers and employees across multiple industries in the U.S., Australia, Canada, the
United Kingdom and Singapore were conducted to reach the findings.

4. More than half of employees who already left their jobs said they did so because they didn’t feel valued

by their bosses or organizations.
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5. All are correct

Answer : The study was released by a marketing firm, that wanted to make the difference, by helping companies

retain their employers.

Direction:

Read the passage and answer the following questions.

The pandemic has forced many to reevaluate what they want out of life, and for some, that has meant leaving their
jobs. For businesses looking to retain those workers, it will probably take more than simply raising wages to
prevent a rush to the exits, according to a study released by management consulting firm McKinsey & Co. Offering
a raise can make the difference, but the report finds that the “Great Attrition” can actually become the “Great

Attraction” for companies that can also make employees feel valued in other ways.

The report found that 40% of the more than 5,770 employees surveyed said they were “at least somewhat likely” to
quit in the next three to six months. More than half of employees who already left their jobs said they did so
because they didn’t feel valued by their bosses or organizations or because they didn’t feel “a sense of belonging at
work.” In contrast, employers surveyed said they believed their employees left because of compensation, work-life

balance and poor physical or emotional health.

The findings were based on two surveys of employers and employees across multiple industries in the U.S,,
Australia, Canada, the United Kingdom and Singapore. The employer survey included 250 talent managers from a

variety of companies.

Perhaps more concerning for employers is that 36% of survey respondents who quit their jobs in the last six months

left without having a new job. In the U.S,, that figure jumps to 40%.

That means these workers didn't necessarily leave because they got a better offer somewhere else. Instead, it’s a

sign that employers dont understand how hard the pandemic has been for their employees, the report said.

Higher wages are important to many workers, but companies looking to stem theexodus also need to really listen

to employees about what they want and include them in the process, the report said. (313 words)

(From Los Angeles Times)

e Question No. 6
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Which of the following is the near synonym of the word ‘exodus’?
Options:

1. mitigation

2. mensuration
3. mature

4. migration

5. monetization
Answer : migration

Direction:

Read the passage and answer the following questions.

The pandemic has forced many to reevaluate what they want out of life, and for some, that has meant leaving their
jobs. For businesses looking to retain those workers, it will probably take more than simply raising wages to
prevent a rush to the exits, according to a study released by management consulting firm McKinsey & Co. Offering
a raise can make the difference, but the report finds that the “Great Attrition” can actually become the “Great

Attraction” for companies that can also make employees feel valued in other ways.

The report found that 40% of the more than 5,770 employees surveyed said they were “at least somewhat likely” to
quit in the next three to six months. More than half of employees who already left their jobs said they did so
because they didn't feel valued by their bosses or organizations or because they didn't feel “a sense of belonging at
work.” In contrast, employers surveyed said they believed their employees left because of compensation, work-life

balance and poor physical or emotional health.

The findings were based on two surveys of employers and employees across multiple industries in the U.S,,
Australia, Canada, the United Kingdom and Singapore. The employer survey included 250 talent managers from a

variety of companies.

Perhaps more concerning for employers is that 36% of survey respondents who quit their jobs in the last six months

left without having a new job. In the U.S,, that figure jumps to 40%.

That means these workers didn’t necessarily leave because they got a better offer somewhere else. Instead, it's a

sign that employers don’t understand how hard the pandemic has been for their employees, the report said.
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Higher wages are important to many workers, but companies looking to stem theexodus also need to really listen

to employees about what they want and include them in the process, the report said. (313 words)

(From Los Angeles Times)

Question No. 7
Which of the following is the near antonym of the word retain’?
Options:

1. give way
2.give up
3. give over
4. give in

5. None of these
Answer : give up

Direction:

Read each sentenceto find out whether thereisany grammatical/contextual error init. Theerror, if any, will bein
one part of the sentence. Mark the part with the error asyour answer. If thereisnoerror, mark ‘No error’ asyour
answer (Ignoretheerrorsof punctuation, if any).

Question No. 8

As the base effect weakens in the third and fourth quarters of 2021-22, (A)/a strong growth momentum would be
needed to ensure which (B)/at the end of this fiscal year, in terms of magnitude, GVA and GDP in real terms

(C)/exceed their corresponding pre-COVID-19 levels of 2019-20 (D).
Options:

1. As the base effect weakens in the third and fourth quarters of 2021-22

2. a strong growth momentum would be needed to ensure which

3. at the end of this fiscal year, in terms of magnitude, GVA and GDP in real terms
4. exceed their corresponding pre-COVID-19 levels of 2019-20

5. No error

Answer : a strong growth momentum would be needed to ensure which
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Direction:

Read each sentenceto find out whether thereisany grammatical/contextual error init. Theerror, if any, will bein
one part of the sentence. Mark the part with the error asyour answer. If thereisnoerror, mark ‘Noerror’ asyour
answer (Ignoretheerrorsof punctuation, if any).

e Question No.9

Citing her recent surgery (A)/which made sitting for long hours difficult, (B)/the Nagari MLA recalled her suffering

(©)/as well as fellow passengers, especially senior citizens (D).
Options:

1. Citing her recent surgery

2. which made sitting for long hours difficult

3. the Nagari MLA recalled her suffering

4. as well as fellow passengers, especially senior citizens

5. No error
Answer : as well as fellow passengers, especially senior citizens

Direction:

Read each sentenceto find out whether thereisany grammatical/contextual error init. Theerror, if any, will bein
one part of the sentence. Mark the part with the error asyour answer. If thereisnoerror, mark ‘No error’ asyour
answer (Ignoretheerrorsof punctuation, if any).

e Question No.10

During the incense rains (A)/and heavy flooding in Tirupati region, (B)/the duo has had to regularly (C)/ filter out

fake videos from the real ones (D).
Options:

1. During the incense rains

2. and heavy flooding in Tirupati region

3. the duo has had to regularly

4. filter out fake videos from the real ones

5. No error

Answer : During the incense rains
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Direction:

Read each sentenceto find out whether thereisany grammatical/contextual error init. Theerror, if any, will bein
one part of the sentence. Mark the part with the error asyour answer. If thereisnoerror, mark ‘Noerror’ asyour
answer (Ignoretheerrorsof punctuation, if any).

e Question No. 1

While online learning for children has had (A)/its fair share of challenges, including learning loss, (B)/fatigue from

online learning to mental stress, (C)/there is another group that faced severe adverse (D).
Options:

1. While online learning for children has had

2. its fair share of challenges, including learning loss
3. fatigue from online learning to mental stress

4. there is another group that faced severe adverse

5. No error
Answer : there is another group that faced severe adverse

Direction:

Read each sentenceto find out whether thereisany grammatical/contextual error init. Theerror, if any, will bein
one part of the sentence. Mark the part with the error asyour answer. If thereisnoerror, mark ‘No error’ asyour
answer (Ignoretheerrorsof punctuation, if any).

e Question No. 12

The silent pandemic for mental ill-health (A)/in adolescents and young people was (B)/brought to the (C)/fore

globally by COVID-19 pandemic (D).
Options:

1. The silent pandemic for mental ill-health
2. in adolescents and young people was
3. brought to the

4. fore globally by COVID-19 pandemic

5. No error

Answer : The silent pandemic for mental ill-health
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Direction:

Directions (Q13- Q16): In questions given below, a sentenceis given which isdivided into FIVE parts such that the
partsarejumbled and do not make a meaningful sentence. Only the part in bold isin its correct place. Rearrange
theremaining partsto form a grammatically correct and meaningful sentence and choose the correct
rearrangement from the options given below each question.

Question No. 13

In the mid-sixties, (a)/ domestic agricultural production (b)/that could not be solved through trade, (c)/a concerted

effort was made to raise (d)/ when India was facing food shortage (e).
Options:

1. abedc
2. adcbe
3.aecdb
4. acebd

5. No rearrangement required
Answer : aecdb

Direction:

Directions (Q13- Q16): In questions given below, a sentenceis given which isdivided into FIVE parts such that the
partsarejumbled and do not make a meaningful sentence. Only the part in bold isin itscorrect place. Rearrange
theremaining partsto form a grammatically correct and meaningful sentence and choose the correct
rearrangement from the options given below each question.

Question No. 14

There was a consensus (a)/ on the repeal of the three Acts (b)ho need for a debate because (c)/ the Minister

arrogated to himself (d)/ the right to decide that there was (e).
Options:

1. adceb
2. becda
3. edcba
4. decab

5. No rearrangement required
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Answer : decab

Direction:

Directions (Q13- Q16): In questions given below, a sentenceis given which isdivided into FIVE parts such that the
partsarejumbled and do not make a meaningful sentence. Only the part in bold isin itscorrect place. Rearrange
theremaining partsto form a grammatically correct and meaningful sentence and choose the correct
rearrangement from the options given below each question.

Question No. 15

With Bangladesh in recent years without (a)/ Pakistan has attempted to gesticulate (b)/ its intent to strengthen

diplomatic relations and economic ties (c)/necessarily making the concerted efforts (d)heeded for reconciliation (€)

Options:

1. bcade
2. acbde
3. dbcae
4. cdabe

5. No rearrangement required
Answer : bcade

Direction:

Directions (Q13- Q16): In questions given below, a sentenceis given which isdivided into FIVE partssuch that the
partsarejumbled and do not make a meaningful sentence. Only the part in bold isin itscorrect place. Rearrange
the remaining partsto form a grammatically correct and meaningful sentence and choose the correct
rearrangement from the options given below each question.

Question No. 16

One of the central objectives (a)/ provide to agriculture (b)/trade-distorting domestic support (c)/ of the AoA is to

cut (d)/ that WTO member countries (e).
Options:

1. aebcd
2. adceb

3. acdbe
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4. abdce

5. No rearrangement required
Answer : adceb

Direction:

Directions: In each question below, four words printed in bold type are given. These are numbered (A), (B), (C) and
(D). Onethesewords printed in bold might either be wrongly spelt or inappropriate in the context of the sentence.
Find out theword that isinappropriate or wrongly spelt, if any. The number of theword isyour answer. If the
words printed in bold are correctly spelt and appropriatein the context of the sentence then mark (E), i.e. 'All
Correct', asyour answer.

Question No. 17

Even as the Central Government is committed (A) to creating a more disabled-friendly police service through the

issuance (B) of these standards, it has foreclose (C) the possibility of the disabled being (D) part of the police force
Options:

1. committed
2. issuance
3. foreclose
4. being

5. All correct
Answer : foreclose

Direction:

Directions: In each question below, four wordsprinted in bold type are given. These are numbered (A), (B), (C)
and (D). Onethese words printed in bold might either be wrongly spelt or inappropriatein the context of the
sentence. Find out theword that isinappropriate or wrongly spelt, if any. The number of theword isyour answer.
If thewords printed in bold are correctly spelt and appropriatein the context of the sentencethen mark (E), i.e.'All
Correct', asyour answer.

Question No. 18

As Bangladesh commemor ates (A) 50 years of its historic victory, it is worthrevisiting (B) exactly why
Pakistanrsquo;s leadership has remained hesitant (C) so far to offer a formal apology to those aggrieved (D) and

what this means for the future of Bangladesh-Pakistan relations.

Options:
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1. commemorates
2. revisiting

3. hesitant

4. aggrieved

5. All correct
Answer : All correct

Direction:

Directions: In each question below, four words printed in bold type are given. These are numbered (A), (B), (C)
and (D). Onethesewords printed in bold might either be wrongly spelt or inappropriatein the context of the
sentence. Find out the word that isinappropriate or wrongly spelt, if any. The number of theword isyour answer.
If thewords printed in bold are correctly spelt and appropriatein the context of the sentence then mark (E), i.e."All
Correct', asyour answer.

Question No. 19

The Government needs to engage (A) with the farmers and create an affable (B) environment to convince them of

other effective (C) policy interventions, beyond MSP, that are fiscally prodent (D) and WTO compatible.
Options:

1. engage
2. affable
3. effective
4. prodent

5. All correct
Answer : prodent

Direction:
Directions (Q20- Q23): Fill in the blank with appropriate words from the options.

Kalamkari and Kerala murals, Cheriyal scroll and miniature art... what is Indian art doing on the walls of Hong Kong?

The bold, colourful strokes (1) Indian stories, as part of Kathaa, a community-driven Indian mural

festival held recently. The festival, a collaboration between Gurugram-based art start-up MeMeraki and Hong Kong-

based NGO HKWalls murals, (2) works of many Indian artists. Kathaa is a showcase event for Azadi Ka

Amrit Mahotsav and has been made possible with the support of the Consulate General of India in Hong Kong,

informs Yosha Gupta, founder of MeMeraki. With COVID-induced travel restrictions in place, the artists could not
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(4) on the walls by Hong Kong artists Ahmad Rida Nisar, Aron Tse, Ruby Law and Shweta Rastogi at 51 Sai Street,

Rich View Terrace, Sheung Wan, Hollywood Road and Heung Yip road— Sitting Out area.

Question No. 20
Fill in blank 1 with the appropriate word from the options.
Options:

1. telling

2. speaks
3. narrated
4. mute

5. expresses
Answer : narrated

Direction:
Directions (Q20- Q23): Fill in the blank with appropriate words from the options.

Kalamkari and Kerala murals, Cheriyal scroll and miniature art... what is Indian art doing on the walls of Hong Kong?

The bold, colourful strokes (1) Indian stories, as part of Kathaa, a community-driven Indian mural

festival held recently. The festival, a collaboration between Gurugram-based art start-up MeMeraki and Hong Kong-

based NGO HKWalls murals, (2) works of many Indian artists. Kathaa is a showcase event for Azadi Ka

Amrit Mahotsav and has been made possible with the support of the Consulate General of India in Hong Kong,

informs Yosha Gupta, founder of MeMeraki. With COVID-induced travel restrictions in place, the artists could not

(4) on the walls by Hong Kong artists Ahmad Rida Nisar, Aron Tse, Ruby Law and Shweta Rastogi at 51 Sai Street,

Rich View Terrace, Sheung Wan, Hollywood Road and Heung Yip road— Sitting Out area.

Question No. 21

Fill in blank 2 with the appropriate word from the options.

Options:
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1. featured
2. faced

3. famished
4. fertilized

5. feed
Answer : featured

Direction:
Directions (Q20- Q23): Fill in the blank with appropriate words from the options.

Kalamkari and Kerala murals, Cheriyal scroll and miniature art... what is Indian art doing on the walls of Hong Kong?

The bold, colourful strokes (1) Indian stories, as part of Kathaa, a community-driven Indian mural
festival held recently. The festival, a collaboration between Gurugram-based art start-up MeMeraki and Hong Kong-

based NGO HKWalls murals, (2) works of many Indian artists. Kathaa is a showcase event for Azadi Ka
Amrit Mahotsav and has been made possible with the support of the Consulate General of India in Hong Kong,

informs Yosha Gupta, founder of MeMeraki. With COVID-induced travel restrictions in place, the artists could not

(4) on the walls by Hong Kong artists Ahmad Rida Nisar, Aron Tse, Ruby Law and Shweta Rastogi at 51 Sai Street,

Rich View Terrace, Sheung Wan, Hollywood Road and Heung Yip road— Sitting Out area.

Question No. 22

Fill in blank 3 with the appropriate word from the options

Options:

1. excuse

2. explained
3. exclusive
4. execute

5. except

Answer : execute

Direction:
Directions (Q20- Q23): Fill in the blank with appropriate words from the options.
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Kalamkari and Kerala murals, Cheriyal scroll and miniature art... what is Indian art doing on the walls of Hong Kong?

The bold, colourful strokes (1) Indian stories, as part of Kathaa, a community-driven Indian mural

festival held recently. The festival, a collaboration between Gurugram-based art start-up MeMeraki and Hong Kong-

based NGO HKWalls murals, (2) works of many Indian artists. Kathaa is a showcase event for Azadi Ka

Amrit Mahotsav and has been made possible with the support of the Consulate General of India in Hong Kong,

informs Yosha Gupta, founder of MeMeraki. With COVID-induced travel restrictions in place, the artists could not

(4) on the walls by Hong Kong artists Ahmad Rida Nisar, Aron Tse, Ruby Law and Shweta Rastogi at 51 Sai Street,

Rich View Terrace, Sheung Wan, Hollywood Road and Heung Yip road— Sitting Out area.

Question No. 23

Fill in blank 4 with the appropriate word from the options.

Options:

1. reacted
2. retracted
3. retarded
4. reduced

5. recreated

Answer : recreated

Direction:

Directions: In each of the questions given below, four words are given in bold. These four words may or may not be
in their correct position. The sentence isthen followed by optionswith the correct combination of wordsthat should
replace each other in order to make the sentence grammatically and contextually correct. Find the correct
combination of wordsthat replace each other. If the sentenceiscorrect asit is, select ‘E’ asyour option.

Question No. 24

For paddy cultivators whose farming livesalien (A) in the 1960s, aimed (B) with the Green Revolution that

coinciding (C) to increase productivity, organic agriculture isbegan (D).

Options:

1. Only A-B
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2.A-Band C-D
3. A-D and B-C
4. A-C and B-D

5. No exchange required
Answer : A-D and B-C

Direction:

Directions: In each of the questions given below, four words are given in bold. These four words may or may not be
in their correct position. The sentenceisthen followed by options with the correct combination of wordsthat should
replace each other in order to make the sentence grammatically and contextually correct. Find the correct
combination of wordsthat replace each other. If the sentenceiscorrect asit is, select ‘E’ asyour option.

Question No. 25

Nations across Europe are moving to calls (A) tougher measures to stem (B) a new wave of COVID-19 infections

spurred (C) by a highly transmissible variant, triggeringreimpose (D) for protests from Paris to Barcelona.
Options:

1. A-D
2.A-Cand B-D
3.C-D
4. A-D and B-C

5. No exchange required
Answer : A-D

Direction:

Directions: In each of the questions given below, four words are given in bold. These four words may or may not be
in their correct position. The sentence isthen followed by optionswith the correct combination of wordsthat should
replace each other in order to make the sentence grammatically and contextually correct. Find the correct
combination of wordsthat replace each other. If the sentenceiscorrect asit is, select ‘E’ asyour option.

Question No. 26

The Mayor deployed (A) a state of emergency in Kentucky and said rescue (B) of search and scores (C) officials

had been declared (D) along with the national guard.

Options:
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1. A-B

2.A-Cand B-D
3.A-D and B-C
4. A-Band C-D

5. No exchange required
Answer : A-D and B-C

Direction:

Six statements ar e given below, which are jumbled in any random order. Only the fourth statement (d), which has
been emboldened, isin itscorrect place. These statementswill form a coherent and meaningful paragraph, when
arranged in the correct sequence. Arrange the sentencesin theright order and answer the questionsthat follow.

(a) The Falcon's first stage returned and landed on a SpaceX droneship in the ocean.
(b) SpaceX is also planning to launch a Turkish communications satellite from Florida.

(c) A SpaceX rocket carried 52 Starlink internet satellites into orbit from California early Saturday.

(d) It wasthe 11th launch and recovery of the stage.

(e) The second stage continued into orbit and deployment of the satellites was confirmed by the launch

commentator.

(f) The two-stage Falcon 9 rocket lifted off from coastal Vandenberg Space Force Base at 4:41 am and arced over
the Pacific.

Question No. 27

Which of the following is the second sentence of the paragraph after rearrangement?

Options:

le
2.c
3.b
4.a

5. f

Answer : f
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Direction:

Six statements ar e given below, which are jumbled in any random order. Only the fourth statement (d), which has
been emboldened, isin itscorrect place. These statementswill form a coherent and meaningful paragraph, when
arranged in the correct sequence. Arrange the sentencesin theright order and answer the questionsthat follow.

(a) The Falcon's first stage returned and landed on a SpaceX droneship in the ocean.
(b) SpaceX is also planning to launch a Turkish communications satellite from Florida.

(c) A SpaceX rocket carried 52 Starlink internet satellites into orbit from California early Saturday.

(d) It wasthe 11th launch and recovery of the stage.

(e) The second stage continued into orbit and deployment of the satellites was confirmed by the launch

commentator.

(f) The two-stage Falcon 9 rocket lifted off from coastal Vandenberg Space Force Base at 4:41 am and arced over

the Pacific.

Question No. 28
Which of the following is the fifth sentence of the paragraph after rearrangement?
Options:

1.a
2.f
3.c
4.e

5.b
Answer: e

Direction:

Six statements ar e given below, which are jumbled in any random order. Only the fourth statement (d), which has
been emboldened, isin itscorrect place. These statementswill form a coherent and meaningful paragraph, when
arranged in the correct sequence. Arrange the sentencesin theright order and answer the questionsthat follow.

(@) The Falcon's first stage returned and landed on a SpaceX droneship in the ocean.

(b) SpaceX is also planning to launch a Turkish communications satellite from Florida.
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(c) A SpaceX rocket carried 52 Starlink internet satellites into orbit from California early Saturday.

(d) It wasthe 11th launch and recovery of the stage.

(e) The second stage continued into orbit and deployment of the satellites was confirmed by the launch

commentator.

(f) The two-stage Falcon 9 rocket lifted off from coastal Vandenberg Space Force Base at 4:41am and arced over

the Pacific.

Question No. 29
Which of the following is the third sentence of the paragraph after rearrangement?
Options:

1f

2.a
3.b
4.c

5.e
Answer: a

Direction:

Six statements ar e given below, which are jumbled in any random order. Only the fourth statement (d), which has
been emboldened, isin itscorrect place. These statementswill form a coherent and meaningful paragraph, when
arranged in the correct sequence. Arrange the sentencesin theright order and answer the questionsthat follow.

(@) The Falcon's first stage returned and landed on a SpaceX droneship in the ocean.
(b) SpaceX is also planning to launch a Turkish communications satellite from Florida.

(c) A SpaceX rocket carried 52 Starlink internet satellites into orbit from California early Saturday.

(d) It wasthe 11th launch and recovery of the stage.

(e) The second stage continued into orbit and deployment of the satellites was confirmed by the launch

commentator.

(f) The two-stage Falcon 9 rocket lifted off from coastal Vandenberg Space Force Base at 4:41 am and arced over

the Pacific.
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e Question No. 30

Which of the following is the sixth (last) sentence of the paragraph after rearrangement?
Options:

le
2.¢C
3.b
4.a

5. f
Answer: b

Direction:
Study thetable carefully and answer the given questions:

The table below show the data of total functions organized in three different Halls A,B, and C in 3 different months.

MONTH HALL A HALL B HALL C
April 45 35 32
May 60 20 48
June 42 40 27

e Question No. 31

What is ratio of total number of functions organized in hall B during May and June to the total number of functions

organized in Hall C during April and May?

Options:

1.3:2
2.4:3

3.2:5



4.3:4

5.7:2

Answer: 3:4

Direction:

Study thetable carefully and answer the given questions:

The table below show the data of total functions organized in three different Halls A,B, and C in 3 different months.

MONTH HALL A HALL B HALL C
April 45 35 32
May 60 20 43
June 42 40 27

e Question No. 32

ixam
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What is the approximate average numbers of functions organized in the month of May in Hall A, Hall B and Hall C?

Options:

1.32
2.43
3.5
4.12

5.20

Answer : 43

Direction:

Study thetable carefully and answer the given questions:

The table below show the data of total functions organized in three different Halls A,B, and C in 3 different months.



MONTH HALL A HALL B HALL C
April 45 35 32
May 60 20 48
June 42 40 27

e Question No. 33
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There is another Hall D, number of functions in Hall D in May is 25% more than the Hall A in the same month and

number of functions in Hall D in June is 25% less than the Hall B in the same month. Find the total number of

functions organized in Hall D during May and June.

Options:

1.13
2.105
3.120

4.100

5. None of these

Answer : 105

Direction:

Study the table car efully and answer the given questions:

The table below show the data of total functions organized in three different Halls A,B, and C in 3 different months.

MONTH HALL A HALL B HALL C
April 45 35 32
May B0 20 48
June 42 40 27
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e Question No. 34

Total functions organized in Hall A during April and May together is what percent of total functions organized in

Hall C during May and June.
Options:

1.140%
2.110%
3.130%
4.150%

5.160%
Answer : 140%

Direction:
Study the table car efully and answer the given questions:

The table below show the data of total functions organized in three different Halls A,B, and C in 3 different months.

MONTH HALL A HALL B HALL C

April 45 35 32
May B0 20 48
June 42 40 27

e Question No. 35

In July, number of functions in Hall A, Hall B and Hall C is 12 more, decreased by 12.5% and increased by 33(1/3)%

respectively. Find the total number of functions in July in all three Halls together.
Options:

1.101

2.98



3.125
4.136

5. None of these

Answer : 125

Direction:
In the following number series, only one number iswrong. Find out the wrong number.

Question No. 36

100, 101, 126, 207, 376, 660, 1106

Options:

1. 660
2.1106
3.376
4.101

5.207

Answer : 660

Direction:
In thefollowing number series, only one number iswrong. Find out the wrong number.

Question No. 37

100, 125, 143, 169, 198, 230, 265

Options:

1.198

2.230
3.265
4.143

5.125

Answer : 125

ixam
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Direction:
In the following number series, only one number iswrong. Find out the wrong number.

e Question No. 38

1,15,3,75,225,75, 315

Options:

1.3
2.15
3.75
4.225

5.315

Answer : 75

Direction:
In the following number series, only one number iswrong. Find out the wrong number.

e Question No. 39

4, 8, 24, 96, 485, 2880, 20160

Options:

1.8
2.485
3.2880
4.20160

5.96

Answer : 485

Direction:
In thefollowing number series, only one number iswrong. Find out the wrong number.

e Question No. 40

ixam
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150, 900, 300, 1800, 600, 3700, 1200
Options:

1.1200
2.900
3.3700
4.150

5.600

Answer : 3700

e Question No. 41

In a rectangle, the ratio of length and breadth is 3:2 and its perimeter is 240 cm, then what the area of the

rectangle?
Options:

1.1440 sq.cm
2.1728 sq.cm
3.2688 sqg.cm
4.2880 sg.cm

5.3456 sq.cm

Answer : 3456 sq.cm

e Question No. 42

N workers can complete a piece of work in 50 days. When 5 more workers joined, then the work got completed in

40 days, then what is the value of N?
Options:

1.10
2.15

3.20
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4.25

5.30

Answer : 20

e Question No. 43

A train crosses a pole in 36 seconds and a platform in 52 seconds. If the speed of the train is 54 km/hr, then what is

the length of the platform?
Options:

1.240 m
2.360 m
3.320m
4.280 m

5. None of these

Answer : 240 m

e Question No. 44

A and B started a business in partnership by investing the capital of Rs. 35000 and Rs. 40000 respectively. After six
months, C also joined them with some capital. If at the end of the year, the profit share of C is Rs. 8000 out of the

total profit of Rs. 23000, then find the amount invested by C.
Options:

1. Rs. 40000
2. Rs. 64000
3. Rs. 80000
4.Rs. 96000

5. None of these

Answer : Rs. 80000
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e Question No. 45

An article is sold for Rs. 480 at 20% loss. If this article was sold at 12.5% profit, what would have been its selling

price?
Options:

1.Rs. 450
2.Rs. 540
3.Rs. 600
4.Rs. 675

5. None of these

Answer : Rs. 675

e Question No. 46

Milk and water are mixed in vessel A in the ratio of 5:2 and in vessel B in the ratio of 8 : 5. In what ratio should

quantities be taken from the two vessels so as to form a mixture in which milk and water will be in the ratio of 9:4?
Options:

Jenli2
2.5:3
3.6:5
4.31

5. None of these

Answer :7:2

e Question No. 47

Same amounts are invested in two schemes with 8% interest for 2 years, one scheme at S.I. and another scheme at

Cl. If he received Rs. 41875.2 after 2 years then find the simple interest he earned.

Options:
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1.3880
2.2000
3.2400
4.2500

5.2880

Answer : 2880

e Question No. 48

Krishna covers a certain distance by train at 25 km/hr. and the equal distance on foot at 4 km/hr. If the time taken

by him for the whole journey be 5 hrs and 48 minutes, how much total distance did he cover?

Options:

1.30 km
2.40 km
3.25 km
4.35 km

5. None of these

Answer : 40 km

e Question No. 49

The ratio of age of Sahil and his son is 7:2. If the difference of their ages 7 year ago was 25, then find the sum of

ages of Sahil and his son 12 year hence?
Options:

1.79
2.72
3.69
4.59

5.63

Answer : 69
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e Question No. 50

Speed of current is 25% of speed of boat in still water, if boat travelled 45 km downstream and returned back in

total 12 hr. then find speed of boat in still water?
Options:

1. 4km/hr
2. 8km/hr
3. 6km/hr
4.10km/hr

5.12km/hr
Answer : 8km/hr

Direction:
What will comein the place of question (?) mark in following questions?

e Question No. 51
36% of 250 + 26 + 2 x ? = 207
Options:

1.8
2.5
3.6
4.9

5.7
Answer: 9

Direction:
What will comein the place of question (?) mark in following questions?

e Question No. 52

1/3600% of 150 + 3/5 of 360 - ? = 210



Options:

1.72

2.84
3.90
4.96

5. 66
Answer : 96

Direction:
What will comein the place of question (?) mark in following questions?

e Question No. 53
. 2
120x195+13-? =16
Options:

1.1534
2.1554
3.1444
4.1544

5.1564
Answer : 1544

Direction:
What will comein the place of question (?) mark in following questions?

e Question No. 54
[4(2/3) + 5(1/6)] x 45% of 240 =7
Options:

1.1062

2.1064

ixam
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3.1072
4.1096

5.1082
Answer : 1062

Direction:
What will comein the place of question (?) mark in following questions?

e Question No. 55
(1/8) x (256 x 2)/(8 x 4) + 7> = 1730
Options:

1.1
2.9
3.12
4.8

5.14
Answer : 12

Direction:
What will comein the place of question (?) mark in following questions?

e Question No. 56
(6 x\/361) x 25=? + 125
Options:

1.120
2.140
3.150
4.160

5.210

Answer : 160

ixam
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Direction:
What will comein the place of question (?) mark in following questions?

e Question No. 57
240 x 2.5 + 65 x 2/13 = ?° - /225
Options:

1.22
2.24
3.23
4.27

5.25
Answer : 25

Direction:
What will comein the place of question (?) mark in following questions?

e Question No. 58
756 + 432 - 361+ ? =990
Options:

1.163
2.153
3.167
4.143

5.147
Answer : 163

Direction:
What will comein the place of question (?) mark in following questions?

e Question No. 59

ixam
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(115 x 17 x 3)/(23 x 51) + 7° = /169
Options:

1.5
2.4
3.3
4.2

5.1
Answer: 2

Direction:
What will comein the place of question (?) mark in following questions?

e Question No. 60
3432 -7 +9x3%) =2
Options:

1.9

2.1
3.8
4.6

5.7
Answer: 8

Direction:
What will comein the place of question (?) mark in following questions?

e Question No. 61
7(3/6) of 534 + 262 = 61800 - ?
Options:

1. 56533

ixam
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2.57533
3.58533
4.37355

5. None of these
Answer : 57533

Direction:
What will comein the place of question (?) mark in following questions?

e Question No. 62
72% of 486 - 64% of 261="7
Options:

1.184.66
2.188.88
3.186.24
4.183.66

5.182.88
Answer : 182.88

Direction:
What will comein the place of question (?) mark in following questions?

e Question No. 63
?+62x12=264
Options:

1.1364
2.1284
3.1348
4.1388

5. None of these

ixam
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Answer : 1364

Direction:
What will comein the place of question (?) mark in following questions?

Question No. 64

(-251x 21 x -12) + ? = 158.13

Options:

1.250
2.400
3.300
4.150

5. None of these

Answer : 400

Direction:
What will comein the place of question (?) mark in following questions?

Question No. 65

(560 + 32) x (720 + 48) = ?

Options:

1.2625
2.271.25
3.255
4.2635

5. None of these

Answer : 262.5

Direction:

Read the following information carefully and answer the following questions.

ixam
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Seven persons A, B, C, D, E, F and G were born in different months viz. January, February, March, April, June, August
and December of the same year, but not necessarily in the same order. Not more than three persons were born
before B. A was born immediately before the month in which C was born. A was not born in the month having 30
days nor in the month having least number of days. C was not born in the month immediately before D. Only three
persons were born between A and E, who is born in one of the months after F. B was not born in the month having

31 days. Only two persons were born between B and D.

Question No. 66
How many persons were born after G?
Options:

1.One
2.No One
3.Two
4.Three

5. More than three
Answer : One

Direction:

Read the following information carefully and answer the following questions.

Seven persons A, B, C, D, E, F and G were born in different months viz. January, February, March, April, June, August
and December of the same year, but not necessarily in the same order. Not more than three persons were born
before B. A was born immediately before the month in which C was born. A was not born in the month having 30
days nor in the month having least number of days. C was not born in the month immediately before D. Only three
persons were born between A and E, who is born in one of the months after F. B was not born in the month having

31 days. Only two persons were born between B and D.

Question No. 67
Who among the following was born immediately before the month in which A was born?

Options:
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1.G
2.C
3.No one
4.B

5. None of these
Answer : No one

Direction:

Read the following information carefully and answer the following questions.

Seven persons A, B, C, D, E, F and G were born in different months viz. January, February, March, April, June, August
and December of the same year, but not necessarily in the same order. Not more than three persons were born
before B. A was born immediately before the month in which C was born. A was not born in the month having 30
days nor in the month having least number of days. C was not born in the month immediately before D. Only three
persons were born between A and E, who is born in one of the months after F. B was not born in the month having

31 days. Only two persons were born between B and D.
Question No. 68
Who among the following was born in the month having least number of day?

Options:

1F

2.C
3.G
4.D

5. None of these
Answer: C

Direction:

Read the following information carefully and answer the following questions.

Seven persons A, B, C, D, E, F and G were born in different months viz. January, February, March, April, June, August

and December of the same year, but not necessarily in the same order. Not more than three persons were born
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before B. A was born immediately before the month in which C was born. A was not born in the month having 30
days nor in the month having least number of days. C was not born in the month immediately before D. Only three
persons were born between A and E, who is born in one of the months after F. B was not born in the month having

31 days. Only two persons were born between B and D.
Question No. 69
G was born in which of the following month?

Options:

1. January

2. March

3. August

4. December

5. None of these
Answer : August

Direction:

Read the following information carefully and answer the following questions.

Seven persons A, B, C, D, E, F and G were born in different months viz. January, February, March, April, June, August
and December of the same year, but not necessarily in the same order. Not more than three persons were born
before B. A was born immediately before the month in which C was born. A was not born in the month having 30
days nor in the month having least number of days. C was not born in the month immediately before D. Only three
persons were born between A and E, who is born in one of the months after F. B was not born in the month having

31 days. Only two persons were born between B and D.
Question No. 70
B was born in which of the following month?

Options:

1. February
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2. December
3. January
4. March

5. None of these
Answer : None of these

Direction:

Read the following information carefully and answer these questions:

K,L, M, N, O, P and Q are sitting in a circle facing at the centre and playing cards. O is neighbour of K and N. Q is not
between P and M. P is to the immediate right of K. L is second to the left of Q.

Question No. 71

Which of the following does not have the pair of persons sitting adjacent to each other?

Options:

1LLK

2ML
3.NO
4.QN

5QM
Answer: LK

Direction:

Read the following information carefully and answer these questions:

K, L, M, N, O, P and Q are sitting in a circle facing at the centre and playing cards. O is neighbour of K and N. Q is not

between P and M. P is to the immediate right of K. L is second to the left of Q.

Question No. 72

Which of the following pairs has the second person sitting immediately to the right of the first?
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Options:

LKL
2.ML
3.0K
4 MN

5. None of these
Answer: O K

Direction:

Read the following information carefully and answer these questions:
K, L, M, N, O, Pand Q are sitting in a circle facing at the centre and playing cards. O is neighbour of K and N. Q is not
between P and M. P is to the immediate right of K. L is second to the left of Q.
e Question No. 73
What is the position of P?
Options:

1. Second to the right of M

2. To the immediate left of K
3. To the immediate right of L
4. Second to the left of M

5. None of these
Answer : Second to the left of M

Direction:

Read the following information carefully and answer these questions:

K, L, M, N, O, Pand Q are sitting in a circle facing at the centre and playing cards. O is neighbour of K and N. Q is not

between P and M. P is to the immediate right of K. L is second to the left of Q.

e Question No. 74
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Who are the neighbours of L?
Options:

1. Kand M
2. No option is correct
3.Nand M
4.Pand M

5.Kand P
Answer : P and M

Direction:

Read the following information carefully and answer these questions:

K, L, M, N, O, P and Q are sitting in a circle facing at the centre and playing cards. O is neighbour of K and N. Q is not

between P and M. P is to the immediate right of K. L is second to the left of Q.

Question No. 75
Which of the following persons are sitting adjacent to each other in clockwise order as shown?
Options:

1. LQM
2.0NQ
3. MNQ
4.PLM

5. None of the above
Answer : ONQ

Direction:

Study the following information carefully and answer the below questions.

Eight people are P, Q,R, S, T, U, V, and W living in a building which has four floors numbered as 1to 4 from bottom
to top. Each floor has two flat 1and flat 2, where flat 2 is to the east of flat 1and the length of each flat is same.

Only one person is living in each flat of the building but not necessarily in the same order. T lives on an even
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numbered floor but not in an even numbered flat. S lives two floors above U. Neither P nor W lives on the same
floor. Q doesn’t live on the same floor of V. P lives northwest of U who lives immediately below W. R lives one of

the floors above T. Only one person lives between T and V both are living on the same numbered flat.

Question No. 76
Who among the following person lives in 4th floor?
Options:

1R
2.P
3.Q
4. The one who lives immediately above W

5. None of the above
Answer: R

Direction:

Study the following information carefully and answer the below questions.

Eight people are P, Q, R, S, T, U, V, and W living in a building which has four floors numbered as 1to 4 from bottom
to top. Each floor has two flat 1and flat 2, where flat 2 is to the east of flat 1and the length of each flat is same.
Only one person is living in each flat of the building but not necessarily in the same order. T lives on an even
numbered floor but not in an even numbered flat. S lives two floors above U. Neither P nor W lives on the same
floor. Q doesn’t live on the same floor of V. P lives northwest of U who lives immediately below W. R lives one of

the floors above T. Only one person lives between T and V both are living on the same numbered flat.

Question No. 77

Four of the following five are alike in a certain way and hence form a group. Who among the following one does

not belong to the group?
Options:

1S
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2.Q
3.7
4.p

5.V
Answer: S

Direction:

Study the following information carefully and answer the below questions.

Eight people are P, Q, R, S, T, U, V, and W living in a building which has four floors numbered as 1to 4 from bottom
to top. Each floor has two flat 1and flat 2, where flat 2 is to the east of flat 1and the length of each flat is same.
Only one person is living in each flat of the building but not necessarily in the same order. T lives on an even
numbered floor but not in an even numbered flat. S lives two floors above U. Neither P nor W lives on the same
floor. Q doesn’t live on the same floor of V. P lives northwest of U who lives immediately below W. R lives one of

the floors above T. Only one person lives between T and V both are living on the same numbered flat.
Question No. 78

Which of the following statement(s) is/are true with respect to P?

I) P lives west of S

II) P lives on an odd numbered floor

I) P lives on the same floor of T

Options:

1. Only I and llI
2.0nly Il
3.0nly land Il
4.0nly Il

5. None of these
Answer : Only I and Il

Direction:
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Study the following information carefully and answer the below questions.

Eight people are P, Q, R, S, T, U, V, and W living in a building which has four floors numbered as 1to 4 from bottom
to top. Each floor has two flat 1and flat 2, where flat 2 is to the east of flat 1and the length of each flat is same.
Only one person is living in each flat of the building but not necessarily in the same order. T lives on an even
numbered floor but not in an even numbered flat. S lives two floors above U. Neither P nor W lives on the same
floor. Q doesn't live on the same floor of V. P lives northwest of U who lives immediately below W. R lives one of

the floors above T. Only one person lives between T and V both are living on the same numbered flat.

Question No. 79
On which of the following floor and flat does Q lives?
Options:

1. Floor1, Flat1

2. Floor2, Flat1
3. Floor3, Flat2
4. Floor4, Flat3

5. None of the above
Answer : Floor1, Flat1

Direction:

Study the following information carefully and answer the below questions.

Eight peopleare P, Q, R, S, T, U, V, and W living in a building which has four floors numbered as 1to 4 from bottom
to top. Each floor has two flat 1and flat 2, where flat 2 is to the east of flat 1and the length of each flat is same.
Only one person is living in each flat of the building but not necessarily in the same order. T lives on an even
numbered floor but not in an even numbered flat. S lives two floors above U. Neither P nor W lives on the same
floor. Q doesn’t live on the same floor of V. P lives northwest of U who lives immediately below W. R lives one of

the floors above T. Only one person lives between T and V both are living on the same numbered flat.

Question No. 80

Who among the following pair of persons lives on the same floor?
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Options:

1P, R
2.Q,S
3T, W
4.V, U

5. None of the above
Answer: T, W

Direction:

Study the information carefully and answer the questions given below.

An uncertain number of persons sitting in a straight line facing north. Three persons sit between P and L. M sits
second to the right of P. Only three persons sit between L and R. S is immediate left of P. M sits fifth from one of
the extreme ends of the row. As many persons sit between M and Q as many between Q and R. T sits second to the
left of X, who is an immediate neighbor of L. Not more than two persons sit between X and R. Five persons sit

between R and Y. As many persons sit between R and Z as many between Z and V.
Question No. 81
How many persons sitting in a row?

Options:

118
2.20
3.23
4.24

5. None of these
Answer : None of these

Direction:

Study the information carefully and answer the questions given below.
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An uncertain number of persons sitting in a straight line facing north. Three persons sit between P and L. M sits
second to the right of P. Only three persons sit between L and R. S is immediate left of P. M sits fifth from one of
the extreme ends of the row. As many persons sit between M and Q as many between Q and R. T sits second to the
left of X, who is an immediate neighbor of L. Not more than two persons sit between X and R. Five persons sit

between R and Y. As many persons sit between R and Z as many between Z and V.
e Question No. 82
Who among the following person sits fourth to the right of Z?

Options:

1L

2.T
3.X
4.R

5. None of these
Answer: T

Direction:

Study the information carefully and answer the questions given below.

An uncertain number of persons sitting in a straight line facing north. Three persons sit between P and L. M sits
second to the right of P. Only three persons sit between L and R. S is immediate left of P. M sits fifth from one of
the extreme ends of the row. As many persons sit between M and Q as many between Q and R. T sits second to the
left of X, who is an immediate neighbor of L. Not more than two persons sit between X and R. Five persons sit
between R and Y. As many persons sit between R and Z as many between Z and Y.

e Question No. 83
How many persons are sitting between X and M?

Options:

1.5
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2.2
3.3
4.4

5. More than five
Answer : More than five

Direction:

Study the information carefully and answer the questions given below.

An uncertain number of persons sitting in a straight line facing north. Three persons sit between P and L. M sits
second to the right of P. Only three persons sit between L and R. S is immediate left of P. M sits fifth from one of
the extreme ends of the row. As many persons sit between M and Q as many between Q and R. T sits second to the
left of X, who is an immediate neighbor of L. Not more than two persons sit between X and R. Five persons sit

between R and Y. As many persons sit between R and Z as many between Z and V.
e Question No. 84
If Jis an immediate neighbor of S then who among the following person sits second to the left of J?

Options:

1P
2.X
3.L

4.Q

5. None of these
Answer: L

Direction:
Read the information car efully and answer the question.

Point U is 10m north of point Q. Point T is 10m east of point U. Point S is 15m south of point T. Point P is 20m south of

point Q. Point R is 25m east of point P. Point L is 15m east of point S. Point M is the midpoint of point U and P.

e Question No. 85
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What is the distance between point L and R?
Options:

1.10m
2.15m
3.5m
4.20m

5.25m
Answer :15m

Direction:
Read the information carefully and answer the question.

Point U is 10m north of point Q. Point T is 10m east of point U. Point S is 15m south of point T. Point P is 20m south of

point Q. Point R is 25m east of point P. Point L is 15m east of point S. Point M is the midpoint of point U and P.

Question No. 86
What is the direction of T with respect of M?
Options:

1. North-West
2. South-West
3. South-east
4. North-East

5. None of these
Answer : North-East

Direction:
Read the information carefully and answer the question.

Point U is 10m north of point Q. Point T is 10m east of point U. Point S is 15m south of point T. Point P is 20m south of

point Q. Point R is 25m east of point P. Point L is 15m east of point S. Point M is the midpoint of point U and P.
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e Question No. 87
Which of the following points are inline?
Options:

1.P,RS
2.Q, M, L
3.U,S5,T
4.M,S, L

5Q5S, L
Answer: M, S, L

Direction:

In these questions, relationships between different elements are shown in the statements. These statementsare
followed by two conclusions. Give answer -

e Question No. 88

Statements M>B=W=G=0>P=K=T

Conclusion:
. T<G
I.O=B
Options:

1. If only conclusion | follows

2. If only conclusion Il follows

3. If either conclusion | or conclusion Il follows

4. If neither conclusion I nor conclusion Il follows

5. If both conclusions | and Il follow.
Answer : If both conclusions | and Il follow.

Direction:

In these questions, relationships between different elements are shown in the statements. These statementsare
followed by two conclusions. Give answer -



e Question No. 89

Statementss R>E<W>P=Y=V>C=N

Conclusion:

LE>V

ILR=P

Options:

1. If only conclusion | follows

2. If only conclusion Il follows

3. If either conclusion | or conclusion Il follows

4. If neither conclusion | nor conclusion Il follows

5. If both conclusions | and Il follow.

Answer : If neither conclusion | nor conclusion Il follows

Direction:

ixam
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In these questions, relationships between different elements are shown in the statements. These statementsare

followed by two conclusions. Give answer -

Question No. 90

Statements. T>R=zW=E=sN>C=D=M

Conclusion:

LM=R

Il.M>R

Options:

1. If only conclusion | follows
2. If only conclusion Il follows
3. If either conclusion | or conclusion Il follows

4. If neither conclusion | nor conclusion Il follows
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5. If both conclusions | and Il follow.
Answer : If either conclusion | or conclusion |l follows

Direction:

In these questions, relationships between different elements are shown in the statements. These statementsare
followed by two conclusions. Give answer -

Question No. 91

Statements: R<U=0=Q=H>T>W=E

Conclusion:
.Q>E
I.Q=E
Options:

1. If only conclusion | follows

2. If only conclusion Il follows

3. If either conclusion | or conclusion Il follows

4. If neither conclusion | nor conclusion Il follows

5. If both conclusions | and Il follow.

Answer : If only conclusion | follows

Question No. 92

How many pairs of letters are there in the word “SEMINAR” which have as many letters between them is the word

as in English alphabetical series?
Options:

1. Three
2.0ne
3. Two

4. More than three
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5.None
Answer : One

Direction:

In each of the questions below. Some statements are given followed by conclusions/group of conclusions. You
have to assume all the statements to be true even if they seem to be at variance from the commonly known facts
and then decide which of the given conclusions logically follow from the information given in the statements:
Question No. 93

Statement: Only paper is glue.

Some paper is wood.

No wood is carpet.

Conclusions:

|. Some wood can be glue.

IIl. Some paper is not carpet.

Options:

1. If only conclusion | follows
2. If only conclusion Il follows
3.If either | or Il follows

4. If neither | nor Il follows

5.1f both I and Il follows
Answer : If only conclusion Il follows

Direction:
In each of the questions below. Some statements are given followed by conclusions/group of conclusions. You
have to assume all the statements to be true even if they seem to be at variance from the commonly known facts

and then decide which of the given conclusions logically follow from the information given in the statements:
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e Question No. 94
Statement:
All student is union.
Only a few union is class.
Only Some class is large.
Conclusions:
I. All union can be class.
IIl. Some student is not large.
Options:

1. If only conclusion | follows
2. If only conclusion Il follows
3.If either | or Il follows

4. If neither | nor Il follows

5.1f both I and Il follows
Answer : If neither | nor Il follows

Direction:
In each of the questions below. Some statements are given followed by conclusions/group of conclusions. You
have to assume all the statements to be true even if they seem to be at variance from the commonly known facts
and then decide which of the given conclusions logically follow from the information given in the statements:

e Question No. 95
Statement:

Only a few margin is line.

Only a few line is straight.
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Some straight is column.
Conclusions:

I. All column can be line.
Il. Some margin is not line
Options:

1. If only conclusion | follows
2. If only conclusion Il follows
3. If either | or Il follows

4. If neither | nor Il follows

5. If both I and Il follows
Answer : If both | and Il follows

Direction:

The following questions are based on the six three digits numbers given below:

563 218 732 491929

Question No. 96

If 2 is subtracted from the second digit of all odd numbers and 2 is added in the first digit of all even numbers, then

which number is lowest number after the arrangement?
Options:

1.218

2.732
3.491
4.929

5. None of these
Answer : 218

Direction:
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The following questions are based on the six three digits numbers given below:

563 218 732 491 0929

Question No. 97
If third digit of highest number is divided by the first digit of lowest number, then what will be the resultant?
Options:

1.4
2.6
3.45
4.5

5. None of these
Answer : 4.5

Direction:

The following questions are based on the six three digits numbers given below:

563 218 732 491 929

Question No. 98

If all the digits in each number are arranged in increasing order, then which number will be the highest number

after the rearrangement?
Options:

1.218

2.732
3.491
4.563

5. None of these
Answer : 563

Direction:
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The following questions are based on the six three digits numbers given below:

563 218 732 491 0929

Question No. 99

How many numbers will be there in the given series in which addition of first and third digit is greater than second
digit?
Options:

1.1

2.2

3.3

4.4

5. None of these
Answer : 4

Direction:

The following questions are based on the six three digits numbers given below:

563 218 732 491 0929

Question No. 100

How many numbers will be there in the given series in which difference of first and third digit is greater than

second digit?
Options:

1.1

2.2
3.3
4.4

5. None of these

Answer: 2
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